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12. Explain fully in Sanskrit with reference to the

context any one of the following :

(2) FHRASIHRE AT HY FEE|
HT FHGERGIAT o TFISTERALT ||

(b) Tl =TT T IedsgvY 95|
ferT g ATt framgaea ||
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The figures in the margin indicate full marks
for the questions

Answer eight questions, taking two from each Unit

Candidates are required to give their answers in their
own words as far as practicable

UNIT—I

1. Discuss the nature of Purusa (3%9) according to
Sankhya Philosophy. How is the existence of
Purusa (J%9) proved there? 4+6=10

2. What is Cittavrtti (ﬁﬂiﬁr)? Discuss the five types
of Cittavrttis (f¥<9fWs) mentioned in Yoga
Philosophy. 3+7=10
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-3. Explain the concept of Maya (1) according to 9. Write short explanatory notes on any two of the
Sankaracarya in Advaitavedanta Philosophy. How following : Ml ] 5%2=10
can one be relieved of the bondage of Maya (9/T1)? (a) T
Discuss after Sankaracarya. 4+6=10 M
| u i (b) TR
UNIT—II (c) HAAT:

4. Give a short account of the epistemology (Fd<)

of the Carvaka Philosophy. 10
UNIT—IV

5. Name and explain in short the ‘eight-fold wavs’ as
| K | Eht-Joid ey, 10. Discuss the nature of W as found in the

tioned in the Bauddha Philosophy. 10
HERUONCC I HigrkalCoRadiatiosophy Second Chapter of the Srimadbhagavadgita. 10
6. Explain the Syadvada or Saptabhangi Naya in Jaina 11. Translate preferably in English any two of the
Philosophy. . . . | i 29 10 following : 5x2=10
a) STGA TH T SR ST THATIAT: |
UNIT—III " :

SIRE I R ) o e T 2 o (1 T
(b) T A1 TRy TR R a7 WA )

7. Define Samanya (¥M™) and its varieties with
examples. Why is Samanya (9TH9) recognized?

8+2=10 TEHTGIAE lwd | T (27 ||
X AITOT AT 3 ESEGH
8. What is the mganmg of Sannikarga_,_(ﬂﬁﬂﬁﬁr} in (c) qﬁi ﬂ?ﬁﬂq\

T Bl A F: 3R AT ||

perception? Name and discuss all the varieties of

Laukika Sannikarsa (Eﬁﬁﬁ Hﬁlﬁﬂtl. 2+8=10 () St bl o ot éﬁ"i "é[

Y5 TeAeNed FAIE 9T )
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